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Attempt all questions.
/(Section A)

1.
      13

Prove that the union of two sub space is a subspace if and only if is contained
in other.

2. T
T       13
A Linear transformation T on a finite dimensional vector space is invertible
if and only if T is non-singular.

3. x sin x + cos x = 0 
      14

Using Newton’s formula find a roots of equation x sin x + cos x = 0 correct
to three decimal place.

/(Section B)
4. 13

Every continuous function is Riemann integrable.
5. 13
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Discuss the convergence of gamma function
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6. d(x, y) = 
| |

1 | |
x y

x y , R 14

Show that d(x, y) = 
| |

1 | |
x y

x y  is a metric space on R..

P.T.O.



Y – 512 / Y – 513 / Y – 514

                                                           (  2  )                        Y - 512/ Y - 513/ Y - 514
/(Section C)

13
Find mean, variance and third moment about mean for the Binomial
distribution.

13
Fit a second degree parabola to the following data :

x y
0 1
1 1.8
2 1.3
3 2.5
4 6.3
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Show that in a 2 × 2 contingency table 
a b
c d
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